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The circle graph given here shows the spending for a country on various sports during a

particular year. Study the graph carefully and answer the questions given below it. DHRCDI
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What per cent of total expenditure 1s spent on tennis?

(a) 12%% (b) 22%%
ﬁ .—;213[}; (d) 45%
c %
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How much per cent more 1s spent on hockey than that on

golf?
27% b) 3% g -
O 315 o v 000

(e) None of these
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[f the total amount spend on sports during the year be

18000000, then the amount spent on basketball exceeds on
Tennis by

0Q:20

@) 250000 (b) 360000
(¢) 375000 (d) T410000
(e) 30000
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How many per cent less is spent on football than that on
Cricket?

2
(a) 223% (b) 27%
331, d) 37 Lo,
— /0 — /0
(¢) 3 (d) -
(e) 29%
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Directions: The given line graph shows the number of total application applied for the post of
professor in four colleges. The table shows the percentage of rejected application by colleges.
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In accepted application by college A 33 % % are applied by females. Then accepted
application applied by male in college A is what percent of total accepted
application by college D.
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a) 75% b)70% c) 120% d)60% e) 80% ma@
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Find the average number of accepted application by all these 4 colleges.
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a) 19350 b)18400 c) 18840 d)20050 e) 17900
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Among accepted application by college B and C the ratio of male to female
applicant are 10 : 11 and 8 : 9 respectively. Then find the ratio of accepted

application applied by female in college B to accepted application applied by
male in college C.
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@M@@ a)12:13b)27:29¢c)15:11d)9:17 e) 11 : 14
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Rejected application by collegge C i$ what percent of rejected application by
college B and D together.

PIdol C gRT QI (BT T TSI Bt ST, Biael B 3R D gRT AT @rivet
f¥u e smaenl o1 fra ufa=a & 2
a) 100% b)80% c) 124% d)72% e) 125%
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Find difference of rejected application by college B and College D
&n%‘d &
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a) 1560 b)2200 c) 2016 d)2370 e) 2400
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Two vessels contain milk and water in the ratio
3:2and 7 : 3. Find the ratio in which the con-
tents of the two vessels have to be mixed to get a
new mixture in which the ratio of milk and wa-
teris 2 : 1.
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(1)2:1 (2)1:2 3)4:1 (4)1:4




A, B and C can do a piece of work in 24, 30 and

40 days respectively. They began the work togeth-
er but C left 4 days before completion of the work.
In how many days was the work done ?

A, B 3R C T %1 &l SH31: 24, 30 3R 40 & § 9
Thd Bl =4 Y- wE KA AR9 fowa feg C A
F QU B W 4 K7 T=a ®E Bg feam e fead A
H qu fean w2

(1) 13 )12 _y), ()14 )11




Pipe A can fill a tank in 16 minutes and pipe B
empties it in 24 minutes. If both the pipes are
opened together, atter how many minutes should
pipe B be closed, so that the tank is filled in 30
minutes ?

R A T& oF &l 16 fHe § 9= §hal © 3K U9 B
39 24 fg9e § @relt T Hhdl 21 4f€ S 9edl i
TH-91Y @re f$an S @t fohad fime g B & 9§ &
fear S =nfer fSew for % 30 foe & W Siw?
(1) 21 minutes /&7 (2) 20 minutes/fqe
(3) 18 minutes/fq7e (4) 15 minutes/fq7e
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4 (y s Pipes A, B and C can fill a tank in 30 hours, 40
70~ 4o @0\ hours and 60 hours respectively. Pipes A, B and

@ C are opened at 7 a.m., 8 a.m. and 10 a.m. re-

spectively on the same day. When will the tank
be full?

UE9 A, B 3R C T 2! &l %H: 30, 40 3R 60 =2
A 9 gehd B 39 diH UEdl A, B 3R C i T g T
$HI: Yag 7 &1, 8 & R 10 &9 Wil f&an wam It
fohad &S ¥R ST ?

(1) 379U& 10.00/p.m. 5 (2) 3790 10.20/p.m. 51
(3) 3T 9.20/p.m. §8  (4) 3T 9.40/p.m. sl
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The ratio of length of two trains is 5 : 3 and the
ratio of their speed is 6 : 5. The ratio of time tak-
en by them to cross a pole is
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(1)5:6 2)11:8 (3)25:18 (4)27:16




